
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Aritmetikk for eksponenter (negative eksponenter)

(−8) + (−4) =(−2) (−3) − 3 =2

3 + 6 =(−2) (−7) − 4 =(−1)

3 − (−8) =(−2) 10 − 2 =(−2)

6 + (−3) =(−1) 10 − (−7) =(−2)

(−9) − 10 =(−1) (−5) − 3 =(−2)

9 − (−2) =(−2) 9 + (−7) =(−1)

2 + 10 =(−2) 10 + (−8) =(−2)

3 − (−5) =2 (−2) + (−3) =(−1)

1 − (−1) =(−1) 4 + (−10) =2

(−5) − (−4) =2 3 + 2 =2
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Aritmetikk for eksponenter (negative eksponenter)

(−8) + (−4) = (− ) = (−3 )(−2)

64
255

64
63

(−3) − 3 = 62

3 + 6 = = 6(−2)

9
55

9
1

(−7) − 4 = (− ) = (−4 )(−1)

7
29

7
1

3 − (−8) = = 8(−2)

9
73

9
1

10 − 2 = (− ) = (−1 )(−2)

100
199

100
99

6 + (−3) = (− ) = (−2 )(−1)

6
17

6
5

10 − (−7) = = 7(−2)

100
701

100
1

(−9) − 10 = (− ) = (−10 )(−1)

9
91

9
1

(−5) − 3 = (− ) = (−2 )(−2)

25
74

25
24

9 − (−2) = = 2(−2)

81
163

81
1

9 + (−7) = (− ) = (−6 )(−1)

9
62

9
8

2 + 10 = = 10(−2)

4
41

4
1

10 + (−8) = (− ) = (−7 )(−2)

100
799

100
99

3 − (−5) = 142 (−2) + (−3) = (− ) = (−3 )(−1)

2
7

2
1

1 − (−1) = 2(−1) 4 + (−10) = 62

(−5) − (−4) = 292 3 + 2 = 112
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